04624-50_B #&BE IHRER , W/ 2R , $ERESN B H

7= miiEA

MR

TEETNIRSWIIAEEESTEEARE. REIHNREER. &
AAEERRPHSRE, SHZE4STARIRSUT CEE. faT
BREIEED , HEBRTEEZENISEARTER , TR RE LR
URWEE, ERNFERE , EHAPRETNERERH, XNEF
MZBFUFRB T HERRS , IRIEMROELZT,. BT T HE
NIREERBREEEEF | S IEYIEBIE,

RS
MENZHFE,
B4 NBRo

g
NFZLREF LB,
TEEAECAIE,

BR:
RIS LR ERE DA Do

WRETAE ) R IRAE ST BB H £, BUHEARATEAN . RETE
EREDEER , NNEREMNRHAZE  ERKDEERN , NEE
R A E,

MG ST AR ET PR R B S B

BEREEFERRO,

AR L YIEIFR A 75 208 A ST,
BEHATEEEXKERAR,
B TFREHA,

fERHEE
- BBEUEREL,
- O BBEEERE,

RS :
BAI{EED : 500 bar,

RE :
SNRERE,

=
-ERNERET,
- SMHEEIERE,

- RAMEFSEE,
- RAMBETE,
- BINRERYT,
- RANMBERSH,

HEEE -
BE 200 BIF ( BTHT O BIREZERE ),

M -

- 1EZ4H 02153,
- BIAEX# R 02000, 02080, 02081, 02005, 02006,

© norelem www.norelem.com



04624-50 B & BRI TTHRER , X/ #4EH  wARESN , B B

-ARBFESR 07114,

BEER :

AR YEMEE AL, IREUEE,
BE : K&, AL, O BINAZERE
CH: WL, OBFEZLER

1) BRI
B .
B3 , |
[ 7 N
&r £
=5 +—-&-
V/an\ % N
\ A
B1
® G
D1 N | | D3
D2 '
1 | 1 ‘
7 | B |
! i 0 = |
1 7
I - +2
e 0 |
N ;
[Se)
Ll g
‘ I!I 7:»‘ ':
[l 4 ]
——I—Lﬁ
04624-50-160822021 B BiER 16 8 o BITREZERE 60(40 20 10[11 6,5 6,3x3 4 8,8 M6x15
04624-50-162022021 B BiER 16 20 | o BUERGEEER 6040 20 10(11 6,5 6,3x3 4 88 M6x15
04624-50-200822021 B B{ER 20 8 o BITREZERE 60(40 22 12(11 6,5 8,5x3 4 8,8 M8x16
04624-50-202022021 B BER 20 20 | o BIEREXERE 60140 22 12|11 6,5 8,5x3 4 88 M8x16
04624-50-250822021 B B{ER 25 8 o BIEREXERE 65|50 25 1614 8,5 10,5x4 4 938 M10x17
04624-50-252022021 B BER 25 20 | o BUEREZERE 65(/50 25 16|14 8,5 10,5x4 4 98 M10x17
04624-50-321022021 B BiER 32 10 | o BUERSE2ZERE 75/55 27,5 20(18 10,5 12,5x4 5 98 M12x18
04624-50-322022021 B B {ER 32 20 | o BUEREZER 75|55 27,5 20[18 10,5 12,5x4 5 98 M12x18
04624-50-401022021 B BER 40 10 | o BUERSE2ERE 85/63 31,5 25/18 10,5 16,5x7 5 98 M16x27
04624-50-402022021 B BER 40 20 | o HUEREXER 85/63 31,5 25|18 10,5 16,5x7 5 98 M16x27
04624-50-161612021 B XER 16 16 | o BUERSE2ZERE 60(40 20 1011 6,5 6,3x3 4 8,8 M6x15
04624-50-163212021 B | X4EH 16 32 | o BIEREXIERE 60/40 20 10111 6,5 6,3x3 4 88 M6x15
04624-50-165012021 B X{ER 16 50 | o BUERGEEERE 60/40 20 10[11 6,5 6,3x3 4 8,8 M6x15
04624-50-201612021 B X1 A 20 16 | o BUBRSE2LERE 6040 22 12|11 6,5 8,5x3 4 88 M8x16
04624-50-203212021 B XX 4E R 20 32 | o HIERGEEER 6040 22 12|11 6,5 8,5x3 4 88 M8x16
04624-50-205012021 B X4ER 20 50 | o BUERGEZERE 60/40 22 12[11 6,5 8,5x3 4 8,8 M8x16
04624-50-252012021 B X1 A 25 20 | o BIEREXIERE 65|50 25 16|14 8,5 10,5x4 4 938 M10x17
04624-50-255012021 B | X4EH 25 50 | o BUEREXZIERE 65/50 50 16|14 8,5 10,5x4 4 98| M10x17
04624-50-322512021 B X 1E A 32 25 | o BUIREZER 75|55 27,5 20[18 10,5 12,5x4 5 98 M12x18
04624-50-325012021 B XX 4E R 32 50 | o BUEREEER 75|55 27,5 20|18 10,5 12,5x4 5 98 M12x18

© norelem www.norelem.com




04624-50 B & BRI TTHRER , X/ #4EH  wARESN , B B

04624-50-402512021 B | XEA 40 25 | o BUEfEXEHE 85/63 315 25/18 105 165x7 | 5 98| M16x27
04624-50-405012021 B | XA 40 50 | o BIIpEZERE 85/63 31,5 25/18 105 165x7 | 5 98| M16x27

04624-50-160822021
04624-50-162022021
04624-50-200822021
04624-50-202022021
04624-50-250822021

BER 16 8 |35/22|1,1| 56 | 64 |6

BER 16 20|35/22(1,11 91| 64 |6

BER 20 8 |35/22|1,1| 61|64 |7]| 10 3,1 3,1 -
7
7

BER 20 20 (35/22|1,1]| 95 | 6,4 10 3,1 3,1 -
BER 25 8 |45/30|1,1| 64 | 8,6

13 4,9 4,9 -

B

B

B

B

B
04624-50-252022021 B | #/EH 25 20 |45/30(1,11 94 | 86 |7 | 13 4,9 4,9 -
04624-50-321022021 B | 1A 32 10 |55/35|1,1| 75 | 10,6 |10| 17 8 8 -
04624-50-322022021 B | #4%H 32 20|55|35|1,1|100| 10,6 |10| 17 8 8 -
04624-50-401022021 B | /A 40 10 |63|40|1,1| 79 | 10,6 |10| 22 12,5 12,6 -
04624-50-402022021 B | #/H 40 20 |63/40(1,1/104| 10,6 |[10| 22 12,5 12,6 -
04624-50-161612021 B | MEA 16 16 (35/22|1,1|/ 56 | 64 |6 8 2 2 1,2
04624-50-163212021 B | MEA 16 32|35/122(11173 | 64 |[6] 8 2 2 1,2
04624-50-165012021 B | XA 16 50|35/22|11| 91|64 |6] 8 2 2 1,2
04624-50-201612021 B | MEA 20 16 |35/22|1,1| 61| 64 | 7| 10 3,1 3,1 2
04624-50-203212021 B | MEA 20 3235|2211 77 | 64 | 7|10 3,1 3,1 2
04624-50-205012021 B | MEA 20 5035|2211 95| 6,4 | 7|10 3,1 3,1 2
04624-50-252012021 B | MEA 25 20 |45/30(1,11 64 | 86 |7 | 13 4,9 4,9 2,9
04624-50-255012021 B | WA 25 50 |45/30(1,11 94 | 86 |7 | 13 4,9 4,9 2,9
04624-50-322512021 B | MEA 32 25|55/35(1,1| 75 | 10,6 |[10| 17 8 8 4,9
04624-50-325012021 B | WA 32 50 |55/35(1,1/100| 10,6 [10| 17 8 8 4,9
04624-50-402512021 B | MEA 40 25|63/40(1,1] 79 | 10,6 |[10] 22 12,5 12,6 7,7
04624-50-405012021 B | MEA 40 50 |63/40(1,1/104| 10,6 [10| 22 12,5 12,6 7,7

© norelem www.norelem.com



